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PSYCHOLOGIST (IN PRISONS AND CORRECTIONAL SERVICES DEPARTMENT) 
IN TAMIL NADU JAIL SERVICES – 06/08/2022 

 
1. The number of Nephridia present in the excretory system of amphioxus is  

a. 70 pairs   b. 85 pairs   c. 90 pairs 
d. 75 pairs   e. Answer not known 
Mk;gpMf;r]pd; fopT ePf;f kz;lyj;jpYs;s neg;hpbahf;fspd; vz;zpf;if ______ 
MFk; 
a. 70 N[hbfs;  b. 85 N[hbfs;  c. 90 N[hbfs; 
d. 75 N[hbfs;  e. tpil njhpatpy;iy 
 

2. In which animal the polytene chromosomes were discovered for the first time? 
a. Fruit fly   b. Drosophila  c. Chironomous 
d. Housefly   e. Answer not known 
ve;j caphpdj;jpy; Kjd; Kjypy; ghypBd; FNuhNkhNrhk;fs; fz;lwpag;gl;lJ? 
a. goG+r;rp   b. bNuhNrhigyh  c. ifNuhdhk]; 
d. tPl;L <   e. tpil njhpatpy;iy 
 

3. When a bacterium is placed in nutrient solution if it moves positively towards the 
nutrient solution and the phenomenon is said to be what? 
a. Hibernation  b. Cytolysis   c. Chemotaxis 
d. Turbidity   e. Answer not known 
xU ghf;l;Bhpak; mjd; czT jputj;ij Nehf;fp <h;f;fg;gLk; epiy vt;thW 
miof;fg;gLfpwJ? 
a. cwf;fepiy  b. nry; ,wg;G  c. Ntjpj; J}z;ly; 
d. fyq;fy; jd;ik  e. tpil njhpatpy;iy 
 

4. Why does solar energy considered as a preferred option of green energy? 
a. Non renewable  b. Non availability   c. Renewable 

d. Causes pollution  e. Answer not known 
#hpa xspr; rf;jpia Vd; tpUk;gg;gLk; gRik rf;jpahf Njh;T nra;fpNwhk;? 
a. GJg;gpf;f ,ayhjJ b. vspjpy; fpilf;fhjJ  c. GJg;gpf;ff; $baJ 
d. khR cz;lhf;FtJ e. tpil njhpatpy;iy  
 

5. Anthracite is a _________ coal 
a. High quality   b. Medium quality  c. Low quality 
d.  Poor quality   e. Answer not known 
Me;j;uirl; vd;gJ xU ___________ epyf;fhpahFk; 
a. cah; ju    b. eLj;ju   c. Fiwe;j ju 
d. kpff; Fiwe;j ju  e. tpil njhpatpy;iy 
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6. Which one of the following is a salt of weak acid and weak base? 
a. Sodium chloride  b. Ammonium chloride  c. Sodium acetate 
d. Ammonium acetate e. Answer not known 
fPo;fz;ltw;Ws; vJ tPhpak; Fiwe;j mkpyk; kw;Wk; tPhpak; Fiwe;j fhu cg;G? 
a. Nrhbak; FNshiuL b. mk;Nkhdpak; FNshiuL  c. Nrhbak; mrpl;Nll; 
d. mk;Nkhdpak; mrpl;Nll; e. tpil njhpatpy;iy 
   

7. The SI unit for energy is  
a. Nm-1   b. Nsm-1   c. Nm 
d. Ns-1 m-1   e. Answer not known 
 
SI myF Kiwikapd; gb Mw;wypd; myF vd;d? 
a. Nm-1   b. Nsm-1   c. Nm 
d. Ns-1 m-1   e. tpil njhpatpy;iy 
 

8. When mechanical waves have a frequency below the audible range, these are called? 
a. Sonics   b. Infrasonics   b. Ultrasonics 
d. Supersonics  e. Answer not known 
,ae;jpu miyfs; Nfl;ff;$ba tuk;gpw;Ff; fPNo mjh;ntz; nfhz;bUf;Fk; NghJ 
,t;thW miof;fg;gLfpd;wd 
a. xypapay; (Nrhdpf;)   b. jhnohypay; (,d;guh Nrhdpf;) 
c. kPnahyp (my;l;uh Nrhdpf;)  d. #g;gh; Nrhdpf; (kPNtf xyp) 
e. tpil njhpatpy;iy 
 

9. During January 2022 – In which country the surgeons successfully implanted a heart 
from genetically modified pig. To man. 
a. Germany   b. Italy   c. UAE 
d. USA   e. Answer not known 
[dthp 2022-y; mWit rpfpr;irahsh;fshy; ntw;wpfukhf> kuG khw;wk; nra;ag;gl;l 
gd;wpapd; ,jaj;ij kdpjDf;Fg; nghUj;jpa ehL 
a. n[h;kdp   b. ,j;jhyp   c. If;fpa muG ehL 
d. mnkhpf;f If;fpa ehL e. tpil njhpatpy;iy 
 

10. The Chief Minister of Tamil Nadu has announced the ‘Non-Resident World Tamils 
Day’ would be celebrated on 
a. January 12   b. January 7    c. March 7 
d. March 12   e. Answer not known 
jkpof Kjyikr;rh; __________ehis ‘Gyk;ngah;e;j cyfj;jkpoh; ehshff;’ 
nfhz;lhlg;gLk; vd;W mwptpj;Js;shh;. 
a. [dthp 12   b. [dthp 7    c. khh;r; 7 
d. khh;r; 12   e. tpil njhpatpy;iy 
 

11. National water mission campaign “Catch the Rain” launched in  
a. 22nd February, 2021 b. 22nd March, 2021  c. 22nd April, 2021 
d. 2nd May, 2021  e. Answer not known 
Njrpaj; jz;zPh; Mizaj;jpd; “Nfl;r; nuapd;” (kioia gpb) njhlq;fg;gl;l ehs; 
a. 22 gpg;uthp> 2021  b. 22 khh;r;> 2021  c. 22 Vg;uy;> 2021 
d. 22 Nk> 2021  e. tpil njhpatpy;iy  
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12. Which of the following scheme to support minority students for preparation of main 
examination who clear prelims conducted by UPSC? 
a. Nai udaan   b. Naya Savera  c. Nai Roshini 
d. USTTAD   e. Answer not known 
UPSC elj;Jk; Kjy;epiyj; Njh;tpy; Njh;r;rp ngWk; rpWghd;ik khzth;fis 
Kjd;ikj; Njh;Tf;F jahh;gLj;Jtjw;F gpd;tUtdtw;Ws; vJ cs;sd? 
a. ea; cjhd;  b. ea; rNtuh   c. ea; Nuhrpdp 
d. c];jhj;   e. tpil njhpatpy;iy 
 

13. The Indian Institute of space science and technology located at 
a. Ahmedabad  b. Pune   c. Bangalore (Bengaluru) 
d. Thiruvananthapuram e. Answer not known 
,e;jpa tpz;ntsp mwptpay; kw;Wk; njhopy;El;g epWtdk; mike;Js;s ,lk; 
a. mfkjhghj;  b. GNd   c. ngq;f@U 
d. jpUtde;jGuk;  e. tpil njhpatpy;iy 
 

14. The design of the National flag was adopted by the constituent Assembly of India on 
a. 20 June 1947  b. 22 July 1947  c. 21 August 1947 
d. 23 November 1947 e. Answer not known 
Njrpa nfhbapd; tbtikg;ig ,e;jpa murpay; eph;zar; rigahy; ________ md;W 
Vw;Wf; nfhs;sg;gl;lJ. 
a. 20 [_d; 1947  b. 22 [_iy 1947  c. 21 Mf];L 1947 
d. 23 etk;gh; 1947  e. tpil njhpatpy;iy 
 

15. On the occasion of 12th National voters Day 2021 the Election Commission gave the 
best state Award to _______state chief electoral officer. 
a. Tamil Nadu  b. Assam   c. Bengal 
d. New Delhi   e. Answer not known 
2021k; Mz;by; 12tJ Njjpa thf;fhsh; jpdj;ijnahl;b ________ khepyj; jiyikj; 
Njh;jy; mjpfhhpf;Fr; rpwe;j khepy tpUjpidj; Njh;jy; fkp~d; toq;fpaJ 
a. jkpo;ehL    b. mrhk;    c. tq;fhsk; 
d. GJ jpy;yp   e. tpil njhpatpy;iy 
 

16. Match the following major tribes in India with their locations. 
A. Bhils   1. Odisha    
B. Bodos   2. Gujarat 
C. Gonds   3. Jharkand 
D. Mundas   4. Assam 

A B C D 
a.  3 2 4 1 
b.  3 1 4 2 
c.  2 4 1 3 
d.  2 3 4 1     
e. Answer not known 
fPo;fz;l Kf;fpa ,e;jpa goq;Fbapdiu mth;fspd; miktplj;Jld; nghUj;Jf 
A. gpy;fs;   1. Xb~h 
B. NghNlh   2. F[uhj; 
C. Nfhz;lh   3. [hh;fz;l; 
D. Kz;lh   4. m];]hk; 
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A B C D 
a.  3 2 4 1 
b.  3 1 4 2 
c.  2 4 1 3 
d.  2 3 4 1 
e. tpil njhpatpy;iy 
    

17. Highest passenger density service in the world is provided by which of the following 
Indian Railway 
a. Mumbai Suburban Railway  b. Kolkata Suburban Railway 
c. Delhi Suburban Railway   c. Chennai Suburban Railway 
e. Answer not known 
gpd;tUtdtw;wpy; cyfpdpNy kpf mjpf gazpfs; mlh;j;jp Nrit toq;fpLk; ,e;jpa 
,uapy; ghij vJ? 
a. Kk;gha; Gwefh; ,uapy;Nt  b. nfhy;fj;jh Gwefh; ,uapy;Nt 
c. jpy;yp Gwefh; ,uapy;Nt   d. nrd;id Gwefh; ,uapy;Nt 
e. tpil njhpatpy;iy 
 

18. Which one is not a man-induced hazards? 
a. Physical hazards  b. Chemical Hazards  c. Biological Hazards 
d. Planetary hazards e. Answer not known 
kdpjdhy; J}z;lg;glhj Mgj;Jf;fs; vJ? 
a. ngsjPf Mgj;Jf;fs;   b. ,urhaz Mgj;Jf;fs;   
c. caphpay; Mgj;Jf;fs;   d. fpuf Mgj;Jf;fs; 

e. tpil njhpatpy;iy 
  

19. In the total length of the Cauvery, how much percentage of length flow into Tamil 
Nadu? 
a. 41.0%   b. 46.0%   c. 56.0% 
d. 51.0%   e. Answer not known 
nkhj;j fhtphp Mw;wpd; ePsj;jpy;> vt;tsT rjtpfpj ePsk; jkpo;ehl;by; cs;sJ? 
a. 41.0%   b. 46.0%   c. 56.0% 
d. 51.0%   e. tpil njhpatpy;iy 
 

20. In which year Himalayan Tsunami occurred in India? 
a. 16th June 2013  b. 6th August 2013  c. 26th July 2010 
d. 16th July 2013  e. Answer not knosn 
,e;jpahtpy; ve;j Mz;by; ,khya Rdhkp Vw;gl;lJ? 
a. 16 [_d; 2013  b. 6 Mf];L 2013  c. 26 [_iy 2010 
d. 16 [_iy 2013  e. tpil njhpatpy;iy 
  

21. As per our Indian Constitution languages comes under 
a. Eighth schedule  b. Seventh schedule  c. Sixth schedule 
d. Fifth schedule  e. Answer not known 
ekJ ,e;jpa murpayikg;gpd;gb nkhopfs; _________ fPo; tUfpd;wJ 
a. vl;lhtJ ml;ltiz b. VohtJ ml;ltiz c. MwhtJ ml;ltiz 
d. Ie;jhtJ ml;ltiz e. tpil njhpatpy;iy 
 

22. Sambavati Kalyanam has written in the language of  
a. Telugu   b. Tamil    c. Marathi 
d. Sanskrit   e. Answer not known 
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rhk;ghtjp fy;ahzk; vd;w E}y; ve;j nkhopapy; vOjg;gl;Ls;sJ? 
a. njYq;F   b. jkpo;    c. kuhj;jp 
d. rk];fpUjk;  e. tpil njhpatpy;iy 
 

23. Which country other than  Indian Sub-continent has numerous Sanskrit inscriptions? 
a. Afghanistan   b. Bangladesh  c. Pakistan 
d. South-East Asian countries e. Answer not known 
,e;jaj; Jizf;fz;lk; jtpu ve;j ehl;by; rk];fpUj fy;ntl;Lfs; cs;sd? 
a. Mg;ghdp];jhd;   b. gq;shNj~;   c. ghfp];jhd; 
d. njd;fpof;fhrpa ehLf;s  e. tpil njhpatpy;iy 
 

24. Who shifted his capital from Gulbarga to Bidar in the Bahmini Kingdom? 
a. Ahamad Shah I   b. Bahman Shah  c. Muhammad Shah I 
d. Alauddin Mujahid Shah  e. Answer not known 
ghkpdp murpy; Fy;ghh;f;fhtpy; ,Ue;J gPlhuUf;F jiyefiu khw;wpath; ahh;? 
a. Kjyhk; mfkJ ~h  b. ghkd; ~h   c. Kjyhk; KfkJ ~h 
d. myhTjPd; k[Pfpj; ~h  e. tpil njhpatpy;iy 
 

25. Which pair is not correct? 
a. Shahjahan Nama  - Shahjahan 
b. Tuzuk-i-Jahangiri  - Jahangir 
c. Tuzuk-i-Baburi  - Babur 
d. Humayun nama  -Gulbadan Begum 
e. Answer not known 
jtwhd ,iz vJ? 
a. ~h[fhd; ehkh  - ~h[fhd; 
b. JRf;-I- I`hq;fphp - I`hq;fphp 
c. JRf;-I-gG+h;  - ghgh; 
d. `_khA+d; ehkh  - Fy;gjd; Ngfk; 
e. tpil njhpatpy;iy 
 

26. Which port on Western coast was attacked and plundered by Shivaji in 1664? 
a. Goa   b. Bassein    c. Chaul 
d. Surat  e. Answer not known 
1664 Mk; Mz;L> rpth[pahy; jhf;fg;gl;lJk; kw;Wk; #iwahlg;gl;lJkhd Nkw;F 
flw;fiu Nfhl;il vJ? 
a. Nfhth  b. Ng]pd;    c. nrsy; 
d. #uj;  e. tpil njhpatpy;iy 
 

27. Which Delhi Ruler got himself free from “Khalifas”? 
a. Qutb-ud-Din-Aibak  b. Iltutmish   c. Balban 
d. Razia Begum   e. Answer not known 
fyp/ghf;fsplkpUe;J jd;idj;jhNd tpLtpj;Jf;nfhz;l nly;yp murh; ahh;? 
a. Fj;Gjpd;-Igf;   b. ,y;Ll;kp~;   c. ghy;gd; 
d. ,u~;ah Ngfk;   e. tpil njhpatpy;iy  
 

28. Which factor caused the end of Indus Valley. Civilization? 
a. Climatic change   b. Earthquake  c. Flood 
d. Invasion    e. Answer not known 
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rpe;Jntsp ehfhpfj;jpd; Kbtpw;F vJ fhuzkhf mike;jJ? 
a. thdpay; khw;wk;   b. epy eLf;fk;  c. nts;sk; 
d. gilnaLg;G   e. tpil njhpatpy;iy 
 

29. 33% reservation for women in parliament and State Legislature Bill was first 
introduced during the tenure of which of the following Prime Ministers? 
a. Deve Gowda  b. Rajiv Gandhi   c. ManMohan Singh 
d. P.V. Narasimma Rao e. Answer not known 
ghuhSkd;wk; kw;Wk; rl;l rigapy; ngz;fSf;fhd 33% ,lxJf;fPl;bw;fhd kNrhjh 
Kjy; Kjypy; ve;j gpujk ke;jphpapd; fhyj;jpy; mwpKfg;gLj;jg;gl;lJ? 
a. Njt nfslh   b. uh[Pt; fhe;jp  c. kd;Nkhfd; rpq; 
d. gp.tp. eurpk;k uht;  e. tpil njhpatpy;iy 
 

30. Name the state which has established Lokayukta for the first time in India 
a. Tamil Nadu  b. Bihar    c. Orissa 
d. Rajasthan   e. Answer not known 
,e;jpahtpy; Kjy; Kjypy; Nyhf; mAf;jh mikg;gpid cUthf;fpa khepyk; 
a. jkpo; ehL   b. gPfhh;    c. xhp]h 
d. uh[];jhd;   e. tpil njhpatpy;iy  
 

31. The retirement age of High Court Judge is 
a. 65  b. 67  c. 62  d. 61  e. Answer not known 
cah;ePjpkd;w ePjpgjpapd; Xa;TngWk; taJ 
a. 65  b. 67  c. 62  d. 61  e. tpil njhpatpy;iy 
 

32. Punchhi commission was appointed on 
a. April 28, 2007  b. April 29, 2007  c. April 30, 2007 
d. April 29, 2008  e. Answer not known 
Gd;rp fkp~d; mikf;fg;gl;lJ 
a. Vg;uy; 28> 2007  b. Vg;uy; 29> 2007  c. Vg;uy; 30> 2007 
d. Vg;uy; 29> 2008  e. tpil njhpatpy;iy 
 

33. Who is the Chairman of the District Rural Development agency? 
a. Credit Planning officer   b. Rural Industries officer 
c. District Collector    d. Additional Collector 
e. Answer not known 
khtl;l fpuhk Nkk;ghl;L Kfikapd; jiyth; ahh;? 
a. fld; jpl;l mYtyh;   b. Cuf njhopy; rhiyfs; mYtyh; 
c. khtl;l Ml;rpah;    d. $Ljy; Ml;rpah; 
e. tpil njhpatpy;iy 
 

34. The president nominates _______members to the Rajya Sabha 
a. 10 members  b. 12 members  c. 11 members 
d. 9 members   e. Answer not known 
FbauR jiyth;> uh[;a rghtpy; ________ cWg;gpdh;fis epakpf;fpwhh; 
a. 10 cWg;gpdh;fs;  b. 12 cWg;gpdh;fs;   c. 11 cWg;gpdh;fs; 
d. 9 cWg;gpdh;fs;  e. tpil njhpatpy;iy 
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35. Name the committee that was appointed to make recommendations about 
fundamental duties 
a. V.K Sharma committee   b. Santhanam committee 
c. Swaran Singh committee  d. Balwantrai Mehta committee 
e. Answer not known 
mbg;gil flikfs; gw;wp ghpe;Jiuf;f mikf;fg;gl;l FOtpid Fwpg;gpLf 
a. V.K ~h;kh FO   b. re;jhdk; FO  c. Rtud; rpq; FO 
d. gy;te;j;uha; Nkj;jh FO  e. tpil njhpatpy;iy 
 

36. Which term was included in the Preamble of Indian Constitution in 1976? 
a. Secularism   b. Socialism    c. Communism 
d. All of the above  e. Answer not known 
1976 y; ,e;jpa murpayikg;gpd; Kfg;Giuapy; Nrh;f;fg;;l;l $w;W ahJ? 
a. kjr;rhh;gpd;ik  b. rkjh;kk;    c. fk;A+dp]k; 
d. Nkw;$hpa midj;Jk;  e. tpil njhpatpy;iy 
 

37. Identify the year in which National Rural Health Mission was launched 
a. 2000   b. 2005   c. 2010 
d. 2015   e. Answer not known 
Njrpa fpuhkg;Gw Rfhjhu gzp njhlq;fg;gl;l Mz;L 
a. 2000   b. 2005   c. 2010 
d. 2015   e. tpil njhpatpy;iy 
 

38. Under Pradhan Mantri A was Yojana, Government has targeted 1 crore pucca houses 
with basic amenities by 31 March, 2019 but _________ houses completed within the 
same period. 
a. 1.05 crore houses  b. 1.54 crore houses   c. 0.95 crore houses 
d. None of the above e. Answer not known 
gpujk ke;jphp midtUf;Fk; tPL jpl;lj;jpd; fPo; muR khh;r; 31> 2019-y; 1 Nfhb 
NgUf;F tPl;L trjp nfhLf;f jpl;lkpl;bUe;jJ Mdhy; mNj fhyj;jpw; 
a. 1.05 Nfhb tPLfs;  b. 1.54 Nfhb tPLfs;  c. 0.95 Nfhb tPLfs; 
d. Nkw;$wpa vJTkpy;iy  e. tpil njhpatpy;iy 
 

39. Major features of Tenancy Act is/are 
1. Fixity of tenure 
2. Fair rent 
3. Right to purchase land 
a. 1 only   b. 1 and 3 only  c. 2 and 3 only 
b.  1,2 and 3   e. Answer not known 
Fj;jifr; rl;lj;jpd; Kf;fpa mk;rk;/mk;rq;fs; 
1. xg;ge;j fhyj;ij eph;zapj;jy; 
2. epahakhd thlif 
3. epyj;ij thq;Fk; chpik 
a. 1 kl;Lk;   b. 1 kw;Wk; 3 kl;Lk;  c. 2 kw;Wk; 3 kl;Lk; 
d. 1>2 kw;Wk; 3  e. tpil njhpatpy;iy 
 

40. Match the List I with List II and select the correct answer using the codes given 
below 
List I      List II 
A. Fourth Finance Commission  1. A.M. Khusro 
B. Eighth Finance Commission  2. P.V. Rajmannar 
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C. Eleventh Finance Commission  3. Y.B. Chavan 
A B C 

a. 2 3 1 
b. 3 2 1 
c. 1 3 2 
d.  2 1 3 
e. Answer not known 
gl;bay; I kw;wk; III nghUj;jp fPNo nfhLf;fg;gl;Ls;s rhpahd tpilia Njh;T 
nra;f: 
gl;bay; I    gl;bay; II 
A. ehd;fhtJ epjpf;FO  1. V.vk;. F];& 
B. vl;lhtJ epjpf;FO  2. gp.tp. uh[kd;dhh; 

C. gjpNdhuhtJ epjpf;FO  3. Xa;.gp. rthd; 
A B C 

a. 2 3 1 
b. 3 2 1 
c. 1 3 2 
d.  2 1 3 
e. tpil njhpatpy;iy 
 

41. The Reserve Bank of India on_______ issued new Rs. 200 denomination banknotes 
with the Mahatma Gandhi series, bearing signature of RBI Governor Dr. Urjit Patel. 
a. 52.08.2016   b. 25.08.2017   c. 25.08.2018 
d. 25.08.2019   e. Answer not known 
,e;jpa hprh;t; tq;fp> kfhj;kh fhe;jp cUtk; nghwpf;fg;gl;l 200 &gha; fhfpjg; 
gzj;ij Mh;gpI fth;dh; lhf;lh;. Ch;[pj; gNlypd; ifnahg;gj;Jld; _________ md;W 
ntspg;apl;lJ. 
a. 52.08.2016   b. 25.08.2017   c. 25.08.2018 
d. 25.08.2019   e. tpil njhpatpy;iy 
 

42. Match List-I with List-II and select the answer using the codes given below: 
List I     List II 
A. First five year plan  1. Industrialization 
B. Second five year plan  2. Self-sufficiency 
C. Fifth five year plan  3. Agriculture 
D. Sixth five year plan  4. Removal of poverty 

A B C D 
a. 1 3 2 4 
b.  4 3 2 1 
c. 3 1 4 2 
d. 4 2 1 3 
e. Answer not known 
gl;bay; I kw;Wk; gl;bay; III nghUj;jp fPNo nfhLf;fg;gl;bUf;Fk; FwpaPLfis 
gad;gLj;jp rhpahd tpilia Njh;e;njLf;f. 
gl;bay; I     gl;bay; II 
A. Kjy; Ie;jhz;L jpl;lk;   1. njhopy;kakhjy; 
B. ,uz;lhtj Ie;jhz;L jpl;lk;  2. jd;dpiwT 
C. Ie;jhtJ Ie;jhz;L jpl;lk;  3. Ntshz;ik 
D. MwhtJ IE;jhz;L jpl;lk;  4. tWik xopg;G 

A B C D 
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a. 1 3 2 4 
b.  4 3 2 1 
c. 3 1 4 2 
d. 4 2 1 3 
e. tpil njhpatpy;iy 
 

43. India ranks_______ in terms of nominal GDP among the world economy (2016-17). 
a. Fourth   b. Seventh    c. Fifth 
d. Tenth   e. Answer not known 
2016-17 y; cyf nghUshjhuj;jpy; (GDP) ,e;jpah ngw;Ws;s ,lk; ________ MFk;. 
a. ehd;F   b. VohtJ    c. Ie;jhtJ 
d. gj;jhtJ   e. tpil njhpatpy;iy 
 

44. Who announced in the House of commons to hand over power to the people of 
India? 
a. Queen Victoria     b. Queen Elizabeth – II  
c. Viceroy Lord Louis Mountbatten  d. Prime Minister Attlee 
e. Answer not known 
,e;jpa kf;fSf;F mjpfhuj;ij xg;gilf;f NghfpNwhk; vd;w jftiy nghJkf;fs; 
rigapy; mwptpj;jth; ahh;? 
a. tpf;Nlhhpah kfhuhzp    b. ,uz;lhk; vyp]ngj; kfhuhzp 
c. itrpuha; Y}ap]; nksz;l;Ngl;ld; gpuG d. gpujkh; ml;yp 
e. tpil njhpatpy;iy 
 

45. The civil disobedience movement was suspended by Gandhi to 
a. Gandhi - Ambedkar pact  b. Gandhi – Inwin pact 

c. Gandhi - Wavell pact   d. Gandhi – Mountbatten pact 
e. Answer not known 
rl;l kWg;G ,af;fk; fhe;jpapdhy; xj;jpitg;gjw;F fhuzkhapUe;jJ ____________ 
MFk;. 
a. fhe;jp – mk;Ngj;fh; xg;ge;jk;  b. fhe;jp - ,h;tpd; xg;ge;jk; 
c. fhe;jp – Ntty; xg;ge;jk;  d. fhe;jp – nksz;l;Ngl;ld; xg;ge;jk; 
e. tpil njhpatpy;iy 

 
46. Who were popularly called as Trio? 

a. Gandhi, Nehru and Patel  b. Lal, Bal and pal 
c. Gandhi, Nehru and Tagore  d. Nehru, Tagore and Nethaji 
e. Answer not known 
buNah vd rpwg;ghf miof;fg;gl;lth;fs; ahth;? 
A. fhe;jp> NeU kw;Wk; gNly;  b. yhy;> ghy; kw;Wk; g;ghy; 
c. fhe;jp> NeU kw;Wk; jh$h;   d. NeU> jh$h; kw;Wk; Nejh[p 
e. tpil njhpatpy;iy 
  

47. The provincial autonomy was the main recommendation of  
a. Gandhiji   b. Rajaji   c. Gokhale  
d. V,G T Tilak  e. tpil njhpatpy;iy 
khepy jd;dhl;rp vd;gJ __________ tpd; gpjhd gjpe;Jiuahf ,Uf;fhJ 
a. fhe;jp   b uh[h[p   c. NfhfNy 
d. gp.[p. jpyf;  e. tpil njhpatpy;iy 
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48. The depressed classes were to be given fair representation in the local bodies election 
and services only by _________ pact 
a. Poona   b. Bombay   c. Calcutta 
d. Allahabad   e. Answer not known 
xLf;fg;gl;l kf;fs; njspthd gpujpepjpj;Jtj;ij cs;shl;rp Njh;jypy; ngw;wplTk; 
kw;Wk; nghJ gzpapy; Njh;thfpl cjtpLtJk; __________ xg;ge;jkhfFk; 
a. G+dh   b. gk;gha;    c. fy;fj;jh 
d. myfhgj;   e. tpil njhpatpy;iy 
 

49. Who represented theosophy at the parliament religion in 1893 in Chicago? 
a. Annie Besant  b. Vivekananda  c. Rev. Frank Besant 
d. Blavatsky   e. Answer not known 
1893 Mk; Mz;L rpfhNfh cyf rka ghuhSkd;wj;jpy; jpahrgpapd; gpujpepjpahf 
fye;J nfhz;lth; ahh;? 
a. md;dpngrzl;  b. tpNtfhde;jh;  c. Nghjfh; gpuhq; ngrd;l; 
D. ghy;thl;];fp  e. tpil njhpatpy;iy 
  

50. Match the following and choose the correct answer from the codes given below. 
A. Brijis Kadr    1. Faizabad    
B. Kunwar Singh   2. Bihar 
C. Kunwar Sahib   3. Nawab of Avadh 
D. Maulavi Ahamadullah  4. Kanpur 

A B C D 
a. 1 2 3 4 
b.  3 4 2 1 
c.  4 3 2 1 
d.  3 2 1 4 
e. Answer not known 
fPNo nfhLf;fg;gl;Ls;sij nghUj;jp> nfhLf;fg;gl;l FwpaPLfspypUe;J rhpahd 
tpilia Njh;e;NjL 
A. gphp[p]; fhjh;   1. igrhghj;     
B. ehdh rhfpg;   2. gPfhh; 
C. Fd;thh; rpq;   3. mTj; ethg; 
D. nksytp mfkj;Jy;yh  4. fhd;G+h; 

A B C D 
a. 1 2 3 4 
b.  3 4 2 1 
c.  4 3 2 1 
d.  3 2 1 4 
e. tpil njhpatpy;iy 

 
51. The lives of the Sixty-three Saiva Nayanmars were narrated in 

a. Nalayira Prabhandham  b. Devaram   c. Periyapuranam  

e. Thiruvilaiyadal puranam e. Answer not known 
(63) mWgj;jp %d;W ehad;khh;fspd; tho;f;ifia tpthpf;Fk; E}y; 
a. ehyhapu gpuge;jk;   b. Njthuk;   c. nghpa Guhzk; 
d. jpUtpisahly; Guhzk;  e. tpil njhpatpy;iy 
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52. _________war marks a turning point in the career of Karikala 
a. Venni   b. Magadha    c. Avanti 
d. Vajra   e. Answer not known 
fhpfhyDf;F jpUg;G Kidahf ,Ue;j Nghh; 
a. ntd;dp   b. kfjk;    c. mte;jp 
d. t[;uh   e. tpil njhpatpy;iy 
 

53. The Second women president of the Indian National Congress was  
a. Sarojini Naidu  b. Annie Besant   c. Parvathi Devi 
d. Padmasini Ammal e.  Answer not known 
,e;jpa Njrpa fhq;fpu]pd; ,uz;lhtJ ngz; jiyth; 
a. rNuh[pdp ehAL  b. md;dp ngrd;l;   c. ghh;tjp Njtp 
d. gj;khrpdp mk;khs; e. tpil njhpatpy;iy 
 

54. The Andhra Origin of the Pallavas was mentioned by 
a. K.A. nilakanta Sastri   b. K.P. Jayaswal   
c. S. Krishnawamy Iyengar   d. R. Sathianathier 
e. Answer not known 
gy;yth;fspd; Me;jpuh; Njhw;wk; gw;wp ___________ My; $wg;gl;lJ 
a. Nf.V. ePyfz;l rh];jphp   b. Nf.gp. n[a];thy; 
c. S. fpU~;zrhkp Iaq;fhh;  d. R. rj;jpaehja;ah; 
e. tpil njhpatpy;iy 
  

55. E.V. Ramaswamy passed resolutions for the welfare of the women in the self-Respect 
conference at 
a. Madras    b. Coimbatore  c. Salem 
d. Chengalpet   e. Answer not known 
<.Nt. uhkrhkp Rakhpahij khehl;by; ngz;fspd;  eyDf;fhf jpl;lq;fs; ,aw;wg;gl;l 
,lk; 
a. nkl;uh];   b. NfhaKj;J}h;   c. Nryk; 
d. nrq;fy;gl;L  e. tpil njhpatpy;iy 
 

56. The scheme of “Padiyarisi” was in introduced 
a. Rajaji   b. Bakthavatsalam   c. Kamaraj 
d. C.N. Annadurai  e. Answer not known 
‘gbahprpj;jpl;lk;’ ahh; fhyj;jpy; nfhz;L tug;gl;lJ? 
a. ,uh[h[p    b. gf;jtj;ryk;  c. fhkuh[; 
d. rp.vd;. mz;zhJiu  e. tpil njhpatpy;iy 
 

57. Justice party was formed by 
a. T.M. Nair  b. P. Subbarayan  c. P.S. Kumaraswami Raja 
d. C. Satyamoorthy  e. Answer not known 
ePjpf; fl;rpia cUthf;fpath; 
a. b.vk;. ehah;  b. gp. Rg;guhad;  c. gp.v];. Fkhurhkp uh[h 
d. rp. rj;jpa%h;j;jp  e. tpil njhpatpy;iy 
 

58. The proclamation of Marudu Brothers pasted on the ________ wall. 
a. Fort  of Tiruchi   b. Fort of Sivagangai  
c. Fort of Kaliyar kovil  d. Fort of Nerkkattum Seval 
d. Answer not known 
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kUJ rNfhjuh;fspd; gpufldk; ___________ Rthpy; xl;lg;gl;lJ? 
a. jpUr;rpf; Nfhl;il    b. rptfq;if Nfhl;il 
c. fhisahh; Nfhtpy; Nfhl;il  d. new;fl;Lk; nrty; Nfhl;il 
e. tpil njhpatpy;iy 
 

59. The third congress session held at 
a. Bombay   b. Madras   c. Calcutta 
d. Delhi   e. Answer not known 
fhq;fpu]pd; %d;whtJ khehL eilngw;w ,lk; _________MFk;. 
a. ghk;Ng   b. nkl;uh];   c. fy;fj;jh 
d. nly;yp   e. tpil njhpatpy;iy 
 

60. The Chola ruler directly participated in the battle of Thirupurambiam was 
a. Vijayalaya Chola  b. Aditya Chola  c. Parantaga Chola 
d. Rajendra Chola  e. Answer not known 
jpUg;Gwk;gpak; Nghhpy; Neubahf gq;f nfhz;l Nrho kd;dh; 
a. tp[ahya Nrhod; b. Mjpj;a Nrhod;  c. gwhe;jf Nrhod; 
d. uhN[e;jpu Nrhod;  e. tpil njhpatpy;iy 
 

61. The Chinese Pilgrim Hiuen T. Sang who visited Kanchi during the reign of 
a. Mahendra varman  b. Narasimha varman  c. Raja simha 
d. Apparajithan   e. Answer not known 
rPd gazp Athd; Rthq; ahUila fhyj;jpy; fhQ;rpf;F tUif Ghpe;jhh;? 
a. kNfe;jputh;kd;   b. eurpk;kth;kd;   c. uh[rpk;kd; 
d. mg;guh[pj;jd;   e. tpil njhpatpy;iy 
 

62. The leader undertook a fast death for demanding separate Andhara State was 
a. Potti Sriramulu  b. Potti Subharayalu   c. T- Prakasam 
d. Srinivasalu  e. Answer not known 
jdp Me;jpu khepyk; Nfhhp cz;zhtpujk; ,Ue;J caph; ePj;jth; __________Mthh; 
a. nghl;b =uhKY  b. nghl;b RguhaY   c. b- gpufhrk; 
d. =epthrY   e. tpil njhpatpy;iy 
  

63. During the Sangam period Kopperundevi, wife  of Ariyappadai Kadandha 
Nedunjelian, died the moment of he husband died it was called as 
a. The marakkarpu  b. Karpu    c. Sati 
d. The Arakarpu  e. Answer not known 
rq;f fhyj;jpy; Mhpa gil fle;j neLQ;nropad; ,we;j cld; mtDila kidtp 
Nfhg;ngUe;Njtp cldbahf ,we;j rk;gtj;ij __________ vd Mioj;jdh; 
a. kw fw;G   b. fw;G    c. rjp 
d. mw fw;G   e. tpil njhpatpy;iy 

64. The discovery of Roman coins at Arikkamedu help to confirm Indias trade contacts 
with Rome issued during _________ period 
a. Copernicus   b. Julius   c. Augustus 
d. Justinian    e. Answer not known 
,e;jpah;fSf;Fk; Nuhkhdpah;fsf;Fk; tpahghu njhlh;G ,Ue;jJ vd;W cWjp $wpa 
mhpf;fNkl;by; fz;Lg;gpbf;fg;gl;l ehzaq;fs; __________ fhyj;jpy; ntspaplg;gl;ld. 
a. Nfhgh;epf];   b. [_ypa];   c. mf];l]; 
d. [];bdpad;   e. tpil njhpatpy;iy 
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65. _______ was appointed as the First Woman Chair person of the state Social Welfare 
Advisory Board 
a. Annie Besant   b. Muthulakshmi  c. Govindammal 
d. Sundarabal   e. Answer not known 
khepy r%f ey MNyhrid FOtpd; Kjy; ngz; jiytuhf epakpf;fg;gl;lth; 
a. md;dp ngrd;l;   b. Kj;Jnyl;Rkp  c. Nfhtpe;jk;khs; 
d. Re;juhk;ghs;   e. tpil njhpatpy;iy 
 

66. The main aims of “Nadanthai Vaazhi Cauvery” scheme is  
a. Construct check Dams on Cauvery basins 
b. Clean the River Cauvery 
c. Pollute the river Cauvery 
d. Link the river Cauvery with other rivers 
e. Answer not known 
“ele;jha; thop fhtphp” vd;w Gjpa jpl;lj;jpd; Nehf;fkhdJ 
a. fhtphp Mw;wpd; tbfhypy; jLg;gizfs; fl;Ljy; 
b. fhtphp Mw;iw J}a;ikgLj;jy; 
c. fhtphp Mw;iw khRgLj;Jjy; 
d. fhtphp Mw;iw kw;w ejpfSld; ,izj;jy; 
e. tpil njhpatpy;iy 
 

67. According to the 66th round of NSS (2009-10), India among the total labour force 
Tamil Nadu contributes 
a. 6.74 Percent   b. 7.74 Percent  c. 9.74 Percent 
d. 8.74 Percent   e. Answer not known 
(2009-10) Njrpa khjphp fzf;nfLg;gpd; 66-tJ Row;r;rpapd; gb- ,e;jpahtpy; nkhj;j 
njhopyhsh; rf;jpapy; jkpo;ehl;bd gq;F 
a. 6. 74 rjtPjk;   b. 7.74 rjtPjk;  c. 9.74 rjtPjk; 
d. 8.74 rjtPjk;   e. tpil njhpatpy;iy 

 
68. 2013-14, the first in HDI attained by_______ district, according to Tamil Nadu human 

development Report. 
a. Kanyakumari  b. Dharmapuri   c. Chennai 
d. Ramanathapuram e. Answer not known 
jkpo;ehL kdpj Nkk;ghl;L ml;ltiz 2013-14-k; Mz;bd; gb> Kjy; thpir-y; kdpj 
Nkk;ghl;by; cs;s khtl;lk; 
a. fd;dpahFkhp   b. jh;kGhp    c. nrd;id  
d. uhkehjGuk;   e. tpil njhpatpy;iy 
 

69. In 2014-15, the Gender Inequality Index of the Tamil Nadu state, is the best in_____ 
District, according to Tamil Nadu Human Development report. 
a. Erode   b. Karur   c. Nilgiris   
d. Vellore   e. Answer not known 
jkpo;ehL kdpj Nkk;ghl;L ml;ltiz mwpf;if 2014-15 Mk; Mz;bd; gb> jkpof 
khepyj;jpy; ghypd rkj;Jtkpd;ik FwpaPl;by; Kjd;ikahf tpsq;Fk; khtl;lk; 
a. <NuhL    b. f&h;   c. ePyfphp 
d. NtY}h;    e. tpil njhpatpy;iy 
 

70. In 2018, in Tamil Nadu, “Anti-Sterlite Struggle” of TN took place in  
a. Thanjavore   b. Thoothukudi  c. Kanya Kumari 
d. Salem    e. Answer not known 
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2018 k; Mz;by;> jkpo;ehl;by; “];nlh;iyl;f;F vjpuhd Nghuhl;lk;” eilngw;w ,lk; 
a. jQ;rhT+h;    b. J}j;Jf;Fb   c. fd;dpahFkhhp 
d. Nryk;    e. tpil njhpatpy;iy 
 

71. In Tamil Nadu, the man-Animal conflict are mainly due to  
a. Hunting the Animals  b. Crop damages by Wild Animals 

c. Sound made by Animals  d. Conflict between the Animals 
e. Answer not known 
jkpo;ehl;by; kdpjDf;Fk;> kpUfq;fSf;FkpilNa rr;ruT ,Uf;f fhuzkhtJ 
a. kpUfq;fis Ntl;ilahLjy;  b. gaph;tpisr;riy kpUfq;fs; NrjgLj;jy; 
c. kpUfq;fs; rj;jk; vOg;Gjy;  d. kpUfq;fspilNa rz;il ,Ug;gjhy; 
e. tpil njhpatpy;iy 
 

72. The purpose of App-Kaavalan SOS is  
a. To find information of people location in Emergency 
b. To Count the mobility of Tigers in Forest 
c. To Assess the Accidents 
d. To Manage the Road Accident 
e. Answer not known 
“Kaavalan SOS” vd;w nraypapd; Nehf;fk;__________ MFk;. 
a. Mgj;J fhyq;fspy; kf;fspd; ,Ug;gplj;ij fz;lwpjy; 
b. tdj;jpy; Gypfspd; elkhLk; vz;zpf;ifia mwpjy; 
c. tpgj;Jfis kjpg;gpLjy; 
d. rhiy tpgj;Jfis Nkyhz;ik nra;jy; 
e. tpil njhpatpy;iy 
 

73. In 2019, the Index of Good Governance of Tamil Nadu is 
a. 4.31    b. 5.62     c. 7. 50 
d. 6.72    e. Answer not known 
2019-y; jkpo;ehl;bd; ey;y MSik jpwd; FwpaPl;bd; msT vd;d? 
a. 4.31    b. 5.62     c. 7. 50 
d. 6.72    e. tpil njhpatpy;iy 
 

74. Tamil nadu receives Maximum rain fall from__________ period 
a. From October to December   b. From January to May 
c. From June to September    d. August only 
e. Answer not known 
jkpo;ehl;by; mjpfkhd kio nghopT ngUk; fhyk; 
a. mf;NlhghpypUe;J brk;gh; tiu  b. [dthpapypUe;J Nk tiu 
c. [Pd;-y; ,Ue;J nrg;lk;gh; tiu  e. Mf];L khjk; kl;Lk; 
e. tpil njhpatpy;iy 
 

75. The eligible person for Tamil Nadu State Government distributed cow at free of cost 
is 
a. The poorest of the poor women headed households 
b. The landless Agricultural farmers 
c. The landless Agricultural wage workers 
d. The poorest of the poor men headed households 
e. Answer not known 
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jkpof muR toq;Fk; tpiyapy;yh fwit khL ngw jFjpahdth;fs; ahh;? 
a. tWikapYk; tWikahd FLk;gj; jiytpahf cs;s ngz;fs; 
b. epykw;w tptrhapfs; 
c. epykw;w tptrha $ypfs; 
d. tWikapYk; tWikahd FLk;gj;jiytuhf cs;s Mz;fs; 
e. tpil njhpatpy;iy 
 

76. If 1+2+3+…+ k =55 then the value of 13 +23 +33 +…+ k3 
a. 3025    b. 3125   c. 166375 
d. 171875    e. Answer not known 
1+2+3+…+ k=55 vdpy; 13 +23 +33 +…+ k3 d; kjpg;G 
a. 3025    b. 3125   c. 166375 
d. 171875    e. tpil njhpatpy;iy 

 
77. The 16 term and 26 term of an A.P. are 65 and 105 respectively then the sum of first 

36 terms is  
a. 2000    b. 2500   c. 2600 
d. 2700    e. Answer not known 
xU A.P. d; 16 kw;Wk; 26tJ cWg;Gfs; KiwNa 65> 105 vdpy; Kjy; 36 cWg;Gfspd; 
$Ljy; 
a. 2000    b. 2500   c. 2600 
d. 2700    e. tpil njhpatpy;iy 
 

78. What should come in the place of question mark in the series 20, 21, 25, 34, 50, ?, 111 
a. 75  b. 70  c. 65  d. 60  e. Answer not known 
20, 21, 25, 34, 50, ?, 111 vd;w njhlh; thpirapy; Nfs;tpf;Fwpf;F gjpyhf vd;d 
tuNtz;Lk;? 
a. 75  b. 70  c. 65  d. 60  e. tpil njhpatpy;iy 
 

79. Two dice are rolled once. What is the probability of getting a multiple of 3 in the first 
die 

a. 
1

3
  b. 

1

2
  c. 

1

6
  d. 

2

9
  e. Answer not known 

rPuhd ,U gfilfs; xU Kiw cUl;lgLfpwJ vdpy; Kjy; gfilapd; 3d; klq;F 
vz; fpilg;gjw;fhd epfo;jfT ahJ? 

a. 
1

3
  b. 

1

2
  c. 

1

6
  d. 

2

9
  e. tpil njhpatpy;iy 

 
80. Find the next term of series B, C, E, G,_____ 

a. I  b. J  c. K  d. H  e. Answer not known  
gpd;tUk; njhlh;thpirapy; mLj;J tUtJ vd;d? B, C, E, G, __________. 
a. I  b. J  c. K  d. H   e. tpil njhpatpy;iy 

 
81. A and B together can do a piece of work in 12 days. While B alone can finish it in 30 

days. Find the number of days that A alone can finish the work. 
a. 15 days   b. 18 days   c. 20 days 

d. 25 days   e. Answer not known 
A kw;Wk; B ,ize;J 12 ehl;fspy; xU Ntiyia nra;fpd;wdh;. B kl;Lk; jdpahf 
30 ehl;fspy; me;j Ntiyia Kbf;f KbAk; vdpy; A kl;Lk; jdpahf mt;Ntiyia 
Kbf;f MFk; ehl;fs fhz;f 
a. 15 ehl;fs;   b. 18 ehl;fs;   c. 20 ehl;fs; 
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d. 25 ehl;fs;   e. tpil njhpatpy;iy 
 

82. 6 women or 8 men can construct a room in 86 days. How long will it take for 7 
women and 5 men to do the same type of room? 
a. 35 days   b. 48 days   c. 30 days 
d.  40 days   e. Answer not known 
6 ngz;fs; my;yJ 8 Xh; miwia 86 ehl;fspy; fl;b Kbg;gh;. mJ Nghd;w miwia 
7 ngz;fs; kw;Wk; 5 Mz;fs; fl;b Kbf;f vj;jid ehs;fs; MFk;? 
a. 35 ehl;fs;   b. 48 ehl;fs;   c. 30 ehl;fs; 
d. 40 ehl;fs;   e. tpil njhpatpy;iy 
  

83. The curved surface area of a hemisphere is how much times the square of its radius 
a. 3    b. 4    c.    d. 2    e. Answer not known 
miuf;Nfhsj;jpd; tisgug;G mjd; Muj;jpd; th;f;fj;jpw;F vj;jid klq;F? 
a. 3    b. 4    c.    d. 2    e. tpil njhpatpy;iy 
 

84. How many frustums can a right circular cone have? 
a. infinitely  b. 3  c. 2  d. 1  e. Answer not known 
xU Neh;tl;lf; $k;gpy; vj;jid ,ilf;fz;lq;fs; cs;sd? 
a. vz;zpylq;fh  b. 3  c. 2  d. 1  e. tpil njhpatpy;iy 
 

85. If the circumference of the base of a conical wooden piece is 484 cm then find its 
volume when its height is 105 cm 
a. 652910 cm3    b. 652190 cm3   c. 59290 cm3 
d. 59920 cm3    e. Answer not known 
484 nr.kP mbr; Rw;wsTs;s xU kuf;$k;gpd; cauk; 105 nr.kP vdpy;> $k;gpd; fd 
msitf; fhz;f. 
a. 652910 nr.kP3   b. 652190 nr.kP3   c. 59290 nr.kP3 
d. 59920 nr.kP3   e. tpil njhpatpy;iy 
 

86. Total surface area of a hemisphere is how much times its curved surface area 

a. 2  b. 3  c. 
3

2
  d. 

2

3
  e. Answer not known 

xU miuf;Nfhsj;jpd; nkhj;j Gwgug;G mjd; tisgug;gpd; vj;jid klq;F? 

a. 2  b. 3  c. 
3

2
  d. 

2

3
  e. tpil njhpatpy;iy 

     
87. If the perimeter of an equilateral triangle is 30 cm then the area is  

a. 10 3 cm2   b. 12 3  cm2   c. 15 3  cm2 

d. 25 3  cm2   e. Answer not known 
xU rkgf;f Kf;Nfhzj;jpd; Rw;wsT 30 nr.kP vdpy; mjd; gug;G 

a. 10 3 r.nr.kP  b. 12 3 r.nr.kP   c. 15 3 r.nr.kP 

d. 25 3 r.nr.kP  e. tpil njhpatpy;iy 
 

88. Find the compound interest on Rs. 31,250 at 1 6% per annum compounded  
Quarterly for 9 months 
a. Rs. 3,500   b. Rs. 3,902   c. Rs. 4,000  
d. Rs. 4,200   e. Answer not known 
&.31-250-f;F Mz;Lf;F 16% vd;w tPjj;jpy; 9 khj fhyhz;bd; $l;L tl;b fhz;f. 
a. &.3>500   b. &. 3>902   c. &.4>000 
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d. &.4>200   e. tpil njhpatpy;iy 
 

89. Find Simple Interest on  Rs. 68, 000 at 
2

16
3

% per annum for  9 months 

a. Rs. 8,500   b. Rs. 7,500   c. Rs. 6,500 
d. Rs. 8,000   e. Answer not known 

&. 68>000f;F 9 khjq;fspy; tl;b tPjk; 
2

16
3

%tPjk; fpilf;Fk; jdptl;b vd;d? 

a. &. 8>500   b. &.7>500   c. &.6>500 
d. &. 8>000   e. tpil njhpatpy;iy 
 

90. If 2x : y =8:5, find (3x +3y) : (4x – 2y) 
a. 6 : 2    b. 2 : 6    c. 9 : 2 

d. 2 : 9    e. Answer not known 
2x : y =8:5, vdpy; (3x +3y) : (4x – 2y) d; kjpg;G ahJ? 
a. 6 : 2    b. 2 : 6    c. 9 : 2 

d. 2 : 9    e. tpil njhpatpy;iy 
 

91. If two numbers are in the ratio 3 : 4 and its product is 432 then the largest number is 
a. 15    b. 20    c. 24 

d. 30    e. Answer not known 
,U vz;fspd; tpfpjk; 3:4 kw;Wk; mitfspd; ngUf;fw;gyd; 432 vdpy; nghpa vz; 
vJ? 
a. 15    b. 20    c. 24 

d. 30    e. tpil njhpatpy;iy 
 

92. The scale of a map is given as 1: 30000000.Two cities are 4 cm apart on the map. Find 
the actual distance between them 
a. 120 km   b. 1,200 km   c. 12,000 km 
d.   520 km   e. Answer not known 
xU tiuglj;jpd; msT 1:30000000 vd toq;fg;gLfpwJ. tiuglj;jpy; ,U 
efuq;fSf;F ,ilNa cs;s njhiyT 4 nr.kP vdpy; cz;ikapy; mt;tpU 
efuq;fSf;F ,ilNa cs;s njhiyit fhz; 
a. 120 fp.kP   b. 1>200 fp.kP   c. 12>000 fp.kP 
d. 520 fp.kP   e. tpil njhpatpy;iy 
 

93. The product of two numbers is 1320 and their H.C.F. is 6. Then the L.C.M. of the 
numbers 
a. 220   b. 1314 c. 1326  d. 7920 e. Answer not known 
,U vz;fspd; ngUf;fw;gyd; 1320> kP.ngh.t. 6 vdpy; kP.rp.k 
a. 220   b. 1314 c. 1326  d. 7920 e. tpil njhpatpy;iy 
 

94. The greatest number consisting of 6 digits which is exactly divisible by 24, 15, 36 is 
a. 999700   b. 999720   c. 999780 
d. 999999   e. Answer not known 
24> 15 kw;Wk; 36 My; tFgLk; 6 ,yf;f kpfg;nghpa vz; 
a. 999700   b. 999720   c. 999780 
d. 999999   e. tpil njhpatpy;iy 
 

95. When a number is decreased by 25% it becomes 120, find the number 
a. 160  b. 120  c. 180  d. 150  e. Answer not known 
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xU vz;zpd; kjpg;ig 25% Fiwj;jhy; 120 fpilf;fpwJ vdpy; me;j vz;izf; 
fhz;f 
a. 160  b. 120  c. 180  d. 150  e. tpil njhpatpy;iy 
 

96. The single discount which is equivalent to two successive discount of 20% and 25% is 
a. 40%  b. 5%  c. 45%  d. 22.5% e. Answer not known 
,uz;L njhlh; js;Sgbfshd 20% kw;Wk; 25% Mfpatw;wpw;F rkkhd js;Sgb 
rjtPjk; 
a. 40%  b. 5%  c. 45%  d. 22.5% e. tpil njhpatpy;iy 
 

97. Simplify : 

( ) ( ) ( )

1
a b b c c c

a b c

b c a

m m m

m m m m

+ + +

     
       

     
 

a. 
1

m
  b. m  c. 1  d. ( )a b c

m
+ +  e. Answer not known 

RUf;Ff : 

( ) ( ) ( )

1
a b b c c c

a b c

b c a

m m m

m m m m

+ + +

     
       

     
 

 

a. 
1

m
  b. m  c. 1  d. ( )a b c

m
+ +  e. tpil njhpatpy;iy 

 
98. The income of a person is increased by 10% and then decreased by 10%. Find the 

change in his income. 
a. Increased 1%   b. Reduced 1%  c. No Change 
d. Increased 10%   e. Answer not known 
xUthpd; tUkhdk; 10% mjpfhpf;fpwJ> gpd;G 10% FiwfpwJ vdpy; mtuJ 
tUkhdj;jpd; vd;d khw;wk; epfOk;? 
a. 1% mjpfhpf;Fk;   b. 1% FiwAk;  c. ve;j khw;wKkpy;iy 
d. 10% mjpfhpf;Fk;   e. tpil njhpatpy;iy 
 

99. A shopkeeper purchased 200 bulbs for Rs. 10 each. However 5 bulbs were fused and 
had to be thrown a way. The remaining were sold at Rs. 12 each. Find the gain or 
loss% 
a. Loss 14.53%  b. Profit 15. 43%   c. Profit 17% 
d. Loss 18%   e. Answer not known 
xU filf;fhuh; xt;nthd;Wk; &.10 vd 200 gy;Gfis thq;fpdhh;. mtw;wpy; 5 gy;Gfs; 
gOJ vd;W fz;lwpag;gl;L> J}f;fp vwpag;gl;lJ. kPjpia xt;nthd;Wk; &. 12f;F 
tpw;why;> mth; ngw;w yhg my;yJ e~;l rjtPjj;ijf; fhz;f 
a. e~;lk; 14.53%  b. ,yhgk; 15.43%   c. ,yhgk; 17% 
d. e~;lk; 18%  e. tpil njhpatpy;iy 
 

100. If a=
1 3 3 3

3 , 5 , 4 , 4
2 4 5 8

ab
b c d then

cd
= = = =? 

a. 0  b. 1  c. 
1

2
  d. 2  e. Answer not known 

1 3 3 3
3 , 5 , 4 , 4

2 4 5 8
b c d= = = vdpy; 

ab

cd
 kjpg;G ahJ? 

a. 0  b. 1  c. 
1

2
  d. 2  e. tpil njhpatpy;iy 


